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PART _ A

This part consist of two bunches of questions carrying equal weightage of one.
Each bunch consist of four objective questions. Answer all questions.

l. 1) The equation 4x2 + 7 = O is known as

a) pure quadratic equation b) simple quadratic equation

c) seconddegree d) noneofthese

2) lf the discriminant of a quadratic equation is zero, the roots are

a) realandequal b) realandunequal

c) complex d) nothing can be said

3) The expressio nb2 - 4ac is called 

- 

of the quadratic equation.

a) discriminant b) roots

c) characteristics d) none of these

4)
a0
b -a

a) ab

c) -az

b)0
d)b (W=1)

P.T.O,
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ll. 5) lf the rows and columns of a determinant are interchanged, then the determinant
value

a) remains the same b) the sign of the value is changed
c) becomes zero d) noneofthese

b) B,

d) A-B'

6) AnB'=
a) A

c) A-B
7) When A = {d, b}, its power set has

a)2
c) I

elements.

b)4
d) 1

B) The formuta p ( t *--L-l' qives
( 100/

a) The sum at the end of n years b) the c.l. at the end of n years

c) present value d) noneofthese

PART _ B

(W=1)

Answerany eight questions in one ortwo sentenceseach. Each question carries a
weightage of one.

9. What sum of money will amount to Rs. 5445 in 2 years at 1O/" per annum
compound interest ?

10. lf x:y =4'.7 find thevalue of (3x +2y):(5x+ y).

11. Two positive numbers are in the ratio 3 : 5 and the difference between their
squares is 400. Find the numbers.

12. One vesselA contains a mixture of milk and water in the proportion of 4 : 5 and in
another vessel B, they are mixed in the proportion 5 : 1. ln what proportion
should quantities be taken from the two vessels so as to form a mixture in which
milk and water will be in the proportion S: 4 ?

13. A certain sum amounts to Rs. 678 in 2 years and to Rs. 736.50 in 3.S years, find
the rate of interest.
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14. Amachine is depreciated in such a way that at the end of any year the value is
g0% of the value at the beginning of the year. The cost of the machine was

Rs. 20,000 and it was sold as waste metal for Rs. 500 on finding it not working
properly. How many years the machine was in use ?

1S. A man borrowed a certain amount of money,12/" compound interest per annum

and cleared the debt by paying Rs. 9408 at the end of 2 years. Find the sum

borrowed 
__

16. Using the sets A = {1 ,2,3,41 8 ={2,4,6,8} C = {3, 4,5,6} verify that

An(BnC):(A^B)nC

17. Representthe following using Venn diagram.

An(Bt-lC).

18. Solve 4x2 - 12x + 9 = 0. (Wt. 8x1=8)

PART - C

Answer any six questions.

19. If x= u*.',8' * r, showthat a = %(x-x-').

20. Solve:

7x-4y-202=O
10x- 13y- 142=O

3x+4y -92-11.
21. Solve the equation x2 '4x + 3 = 0.

22. Find :

/ .) \'2{a-Ii) 
[;r.]

,,, (;) . 
[:) 

'



2s rr A = 
[;],- 

= 
[+] 

and c = [_:] 
Find :

1) B + C

2) A-C
3) A+B-C

[r 2l [-r -el
24. lf A=l S 4l, B= 1 0 4 l findthe matrixX,

[so] [s r]

[t z z1

25. ltn=la ,t tl,showthatA2 -4A-51 =6.
[, z 1.]

MV482

26. Show that the value of the determinant
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suchthatA+B-X=0.

342
o 1 -31.0. (Wr.6x2=12)
2 -2 I

PART - D

Answerany two questions. Each question carries weightage of 4.

ts511
27. FindtheinverseofAwher" A=l e -3.1 l.

[r 1 2]

[1 z Bl

28. Find the rank of the matrix 
| 
3 6 I 

I

lz46l
20 47 62

(Wt.2x4=8)


